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170000 cm? = | |m?

@17 @ 17 ® 170 @ 0.17 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?
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D 0.001km? @ 10ha @ma
@ 100000m? ® 1000000cm?
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= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?
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-5000g = Dkg
-4t =Qkg
-900kg = @t
lAt=®Bg
<012t = @kg

@5 @ 4000 ® 0.9
@ 1400000 @12

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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O 385+25 @ 12.8 =7

@ 23+8 ® 945=9
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D 385+25=1.54
®128+7=1.8285---
® 26 +3 =8.666---
@ 23 +8 =2.875
®9.45+9=1.05




SR W bY 2 5

o A

rr

O 0.418 @ 0.374 ® 0.399 @0.542 ® 0.289
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@ 0.428 — 0.4

@ 0.374 - 0.4

@ 0.399 — 0.4

@ 0.545 — 0.5

® 0.289 — 0.3
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@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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D 13ha = 1300a

® 5.6 km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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@ 3t =3000kg
@ 2t = 2000000 g

® 0.65t = 650kg

@9000t =9kg
@ 0.6kg=600g

@ 9000t = 9000000 kg
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3 464+ 32




12, oh8 5 253 o 02 WS Aol gk AL o= A7

j=1

FoRA L.
D 404+5 @ 5.1+6
@ 67.1+22 ®)42.5+5

® 46.4 + 32

~&B

Yt
8.5
5)42.5

40
© 205
206

0




13, oh& 24 S04 22 9 2] Afolel g S ol AU

@® 2.704 @ 2.7113 (@)2.718 @ 2.88 ® 2.876
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15. #HLoJylE= 3.2ha 9] =04 & 5.6t = AL, W= 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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17.6 —17.5 = 0.1(kg) & @5t




